
 

How to Compute eat
nxn

I SimplestCase A is diagonalizable

Suppose A has n linearly independenteigenvectors
V1 V2 V3 Vn

corresponding to n eigenvalues Ai X2 In
whichmight be repeating

ie Avi divi 5 1,2 i n
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I SimplestCase A is diagonalizable
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II Jordan Canonical Form

There is a matrix P whose columns Vi are

eigenvectors
A Vi divi ie A diI Vi 0

or generalized eigenvectors

A di 1 kin 0

such that
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II Jordan Canonical Form

where
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II Jordan Canonical Form

Note Di is diagonal
Ni is nilpotent NP 0

D Ni NiDi ie Di Ni commute
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II Jordan Canonical Form

A PAD eat Pert p
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II Jordan Canonical Form
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II Laplace Transform
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Examples

A
A

A 1 3 1
V2 X2

A 4 371

eat.fi fetetJf J fetestitjétest et est



A 1 11 14

V A

1 11 11

V2

1 11 11

Vs



A f A

eat et
est

est

t



ett
setiest

et

setapt attest et



A

Llett s Aj

115
2

5 2 1 5 2

I

5 137 5 1 5 3 5 1

Ijliis.es

iisn



Partial fraction

seat fi

t istis sis

isiif
si is Et ist

2

eat
f

é ét jet test

ét est é3ᵗ ét


